
MOUNTING INSTRUCTIONS 

1 2 3

Ref.:8595
REAR MUDGUARD ADAPTABLE TO 

TRIUMPH TIGER EXPLORER 1200 16'

1

Original nut

9 89

7

10

B

12

A

(13)  Bridle necessary to avoid contact between the iron and the tube in position B

 In case of contact, adjust with the screw A 

9  478 lbf/in - Tightening 

ATTENTION: The assembly of the arrowhead (10) in the 
opposite direction can cause breakage of the support (2).

XXX
10

10

6

3

5

4

DESCRIPTION   ID. QTY.

Mudguard

Support

Well nut

M5x12 ISO7380 screw

M5 bush with fl ange

DIN127 M5 glower washer

M10 DIN125/A washer

Metal arrowhead 20x36

M10/125x80 DIN912 screw

Metal arrowhead 10.5x18

Bearing

Plastic ziptides

M10 DIN7980 washer

1

1

3

3

3

3

1

1

2

1

1

1

1

1

2

3

4

5

6

7

8

9

10

11

12

13

Look through our comprehensive collection of motorcycle frame and body right away.

https://www.motorcycleid.com/Puig/
https://www.motorcycleid.com/frame-body.html



